id.  The rule is “Count down by nines,™
18, 9.0

15, The rube is “Coun wp by fours,”
16

16, The rube is “Cotnt up by sixes.”

4

17. The rule is “Coum down by lives.”
0

18, The rule is “Count up by threes.™
2

1 X4, 608 10,12 14, 16
16 small rectangles

M 4,8, 12, 16,20, 24
X

20, Ome passibility: 3 + & + 4 = 13

2, 4
&

)

t 3

2

23 g
5

7

+ 8

29

4. #
4

7

+ 2

21

25, 2
[

7

+ 3

23

2. M7

Saron Math 54— Homeschool

LESSONS AND INVESTIGATIONS

LESsON 4,. Warm-Up
w. Th
h. 49
¢, BA
d. 6%
e M
f. 70
2. TE 48 67
Prohlem Salving
Number of Coing
Lef Right
] ]
1 8
2 7
3 ]
& 5
5 4
i 3
7 2
] 1
] 0
Lesson 4, LESSON PRACTICE
a. it
ij 10 [ |
2 hundreds 3 tens 1 ane
h. —_—
2 hundreds  11en 3 ones
$213 is less than 5231
. ) (s
() Tens
() Hundreds
d. 523



o,

LN

12.

Lesson 4, Mixep PracTICE

Pattern: Some
Some mwore
Seme more
4 Sowme mwore
Total
Problem: 3 cards
4 cards
5 cards
+ | cands
13 cards
6+ 6= 12
S¢, 10g, 15¢, Xy
20 cents
E
+8
12
N =R
4
5
$3
12
13
* 6
1%
Y==6
7
+7
14
5 =7
94+ 3=12
N=23
i+ fim§g
N=23

The mule is “Count up hy threes.”
18, 21, 24

The mule is “Count down by sixes,”
12, 6,0

The rule is “Count op by fours,™
24,28, 32

14

15.

1.

17.

15.

1%

11.

The rule i “Count down by sevens,”
14, 7.0
(m) 5 digits
(b} 7 digits
ic) 6 digits
(a) 4
by 7
lc) 3
I] 1m'|m w | 1 |
3 hundreds 4tens 2 ones
4 hundlreds, 3 tens, 4 ones
$434
The mube is “Count up by sixes.”
k]
The mile is “Cownt down by fours.”
b ]
24,608 10,12, 14, 16, 18,20
0 ears
Tens
S4b6=11lor6 4+ 5=11
16 + 4 =20

N=4d
19 + 6 = 25

B =6
6+ 7 4B =12l
6+ B4+ 7 =12,
T+64+8=11
T+E4+6=1,
B4+64+7=1
B4+ 74+46=12
Al
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